Fluency 15 Answers Wednesday 13 January 2021

1) >

2) 655 as it is not a multiple of 50.

3) 863

4) True

5)50

6) 134

7) Four hundred

8) 200

9) 40

10) 3

11) 40

12) 30 is a multiple of 10 AND a multiple of 5.
Therefore it should be in the middle of the Venn
diagram (with 50) NOT JUST in the multiples of 10 circle.

13) | would rather have five 50p coins (=£2.50) because
it is more money OR | would rather have two £1 coins
(=£2) because having more money is not important to
me.

14) Fifty-two

15) Any number, using the digit cards, which is
GREATER than 300 and ends in 3 or 9 (has 3 or 9 in the
ones column).
eg 369, 493, 649, 943, 3649, 4963, 6349, 9463 BUT there
are other numbers as well.












